Two Step Equations
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5) 3r — 12 = 49

7) 2(z — 10) = 36

11) 2z — 10=14

13) 4(z — 12) =40

15) 32=9 _ o7

5

17) 52 —20 _ gk

19) 42 -2 _ g9

21) 4z — 16 = —32

23) 210 _ 100

3

25) 3(z — 6) =21

27) 2z — 8=6

29) 2z — 6=-2

@ Solve each equation.
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4) 4(z — 12) =80
6) 6(z — 18) =102
8) 5z — 20 — 60
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10) 2= = 40
12) 2-18 — 6
14) 3z — 12 = —12
16) 2(xz — 8) =12
18) 3z — 12 =24
20) 3(z — 9) =27
22) 2228 — 12
24) 3(z — 6) = 12
26) 2z — 4 =22

28) 7(z — 35) =14

30) 3z — 12 =-21



Answers of Two Step Equations

@ Solve each equation.

1) 822230 = =24
3) 52-20 _g0 = z=100
5) 3212 _ 49 = 2=160
7) 2(z — 10) =36 = z =28
9 2-18_-36 = 2=45
11) 2z — 10=14 = z =12

13) 4(z — 12) =40 = z =22

15) 3m5—9:27 = gz =48

17) 220 _ 55 = £ =37

19) 2220 — 52 = =83

21) 4z — 16=-32 = ¢z = —4
23) 22210 = 100 = z =62
25) 3(z — 6) =21 = z =13

29) 2z — 6=-2=> x=2

2) 4”2‘8=76 = =40

4) 4(z — 12)=80 = z =32
6) 6(z — 18) =102 = = =35
8 2-20-60 = 2="76
10) 225 =40 = =21
12) 218 -6 = =5

14) 3z — 12=-12 = =0
16)2(z — 8) =12 = z=14
18) 3z — 12=24 = = =12
20)3(z — 9) =27 = =z =18
22) 22812 = =14
24) 3(z — 6) =12 = z =10
26) 2 — 4=22 = z =13
28) T(x — 35)=14 = = =37

3003z — 12=-21 = z=-3



